™ ftiep: W

(3x® = 3x+4)(x—4)+ 6 x3x+3

(4 + x+H2x +5)+ 1x + 6

(x+4)(2x+4)(5x+ 1)

(x+ 3)(6x% + 3x + 5) — (x + 3)(5x — 4)

6x + (4 —2x)(2x + 2)(4x — 2)

(x+3)2x—6)(4x—5)

(5x— 2)(5x* + 6x— 1) — (4x — 5)(3x— 1)

dx+ (3—2x0)(dx — 1)(2x — 5)

(6x° — 6x—1)(2x—2)— 1 x 5x+ 5

(4x—3)(x+4)(5x+ 3)
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L2E&4 e R

(B3x> = 3x+4)(x— 4)+ 6 x 3x+ 3
30 — 15x% + 34x — 13

(42 +x+4H2x+5)+ 1x+6
8> + 22x% + 14x + 26

(6x + 4)(2x + 4)(5x + 1)
60x> + 172x% + 112x + 16

(x+ 3)(6x% + 3x+ 5)— (x + 3)(5x — 4)
6x° + 16x% + 3x + 27

6x + (4 —2x)(2x + 2)(4x — 2)
—16x° + 24x° +30x— 16

(x + 3)(2x — 6)(4x — 5)
8x° — 10x% — 72x + 90

(5x— 2)(5x> + 6x — 1) — (4x — 5)(3x— 1)
25x° + 8x% +2x— 3

4x+ (3 — 20)(4x — 1)(2x — 5)
—16x° + 68x% — T2x + 15

(6> — 6x— 1)(2x—2)— 1 x 5x+ 5
122 — 24x% + 5x + 7

(4x—3)(x+4)(5x + 3)
20x° + 77x% — 21x — 36
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